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Y, obtained score
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' typescript

Mon Sep 17 13:07:16 2001 1

Call: Im(formula = sqrt(4 * y + 1) 7 -1 + Aa)
Residuals:

Min 1Q Median 3Q0 Max

~-3.587 -0.7245 0.009242 0.8339 2.97

Coefficients:

Value Std. Error t value Pr(>|t|)
Al 7.7101 0.1080 71.3960 0.0000 /
A2 8.3854 0.1080 77.6491 0.0000
A3 8.5749 0.1080 79.4037 0.0000
A4 8.5348 0.1080 79.0320 0.0000
A5 8.6633 0.1080 80.2220 0.0000
A6 8.5622 0.1080 79.2861 0.0000
A7 7.7084 0.1080 71.3797 0.0000

Residual standard error: 1.096

Multiple R-Squared: 0.9831

F-statistic: 5928 on 7 and 714

Correlation of Coefficients:

A2
A3
A4
A5
A6
A7

Al A2 A3 A4 A5 A6

(=N =N oleNole]

0
0 0
0 0
0 0
0 o

0

0

0

Analysis of Variance Table

Response: sgrt(4 * y + 1)

on 714 degrees of freedom

degrees of freedom, the p-value is 0

Terms added sequentially (first to last)

A

Residuals 714

Df Sum of Sg Mean Sq F Value Pr(F)

7 49843.34 7120.478 5927.813 0
857.66

1.201




Means: sqrt(4*count+1)

_______________________

8.2
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»

3 4 5
Day of week: Sun-Sat
Normal prob plot residuals
-”-P
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y (psi)

Stress at failure
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Normal prob plot of residuals fitting single factor
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Specimen

y :

Joint Wood Stress at Failure (psi) |

1 beveled oak 1518
2 butt pine 829
3 beveled walnut 2571
4 butt oak 1169
5 . beveled oak 1927
6 beveled pine 1348
7 lap - walnut 1489
8 beveled walnut 2443
9 butt - walnut 1263
10 lap oak 1295
11 lap oak - 1561
12 lap pine - 1000
13 . butt pine 596
14 S lap pine 859
15 butt ‘walnut - 1029
16 beveled pine 11207




Mean Stress at Failure (psi)
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Residuals fitting additive model
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